Alois Švec Deformations of submanifolds of homogeneous spaces

Časopis pro pěstování matematiky, Vol. 93 (1968), No. 1, 22--29

Persistent URL: http://dml.cz/dmlcz/108665

## Terms of use:

© Institute of Mathematics AS CR, 1968

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

## DEFORMATIONS OF SUBMANIFOLDS OF HOMOGENEOUS SPACES

ALOIS ŠVEC, Praha

(Received July 11, 1966)

Among the topics of the classical differential geometry there is the theory of the deformations of submanifolds of homogeneous spaces (first order deformation of surfaces in Euclidean 3-space, second order deformation of surfaces and line congruences in projective 3-space, etc.). It is interesting that there is no general definition of the deformation, the paper [1] being not very precise. The purpose of this paper is to present such a definition and to produce a process solving the question whether two given submanifolds are in a deformation. The deformation of high order being an equivalence, the theory of deformations may lead to the solution of the equivalence problem for submanifolds in homogeneous spaces. I present this process explicitly for the second order deformation of higher order lead to very complicated calculations, and I have no general formulas.

The main problem in the theory of deformations is as follows: Be given a homogeneous space G/H, a manifold M with dim  $M < \dim G/H$  and a natural number n; we have to find out all couples  $V, W: M \to G/H$  which are in the deformation of order n without being equivalent. I think that there are no general theorems covering the known results.

1. Be given a Lie group G and its closed subgroup H; let us consider the homogeneous space G/H. For the sake of simplicity, suppose that G is a linear group, i.e. a subgroup of the full linear group  $GL(\mu, R)$ . Further, let us suppose that the normalizer of H coincides with H, i.e.,

$$(1.2) [v, \mathfrak{h}] \subset \mathfrak{h} \Rightarrow v \in \mathfrak{h}.$$

In the Lie algebra g, we have

(1.3) 
$$[A, B] = AB - BA$$
,  $ad(g)A = gAg^{-1}$ ;  $A, B \in g, g \in G$ .

Let us recall the well known formula

(1.4) 
$$\operatorname{ad}(g)[A, B] = [\operatorname{ad}(g) A, \operatorname{ad}(g) B]$$

22

Let M be a differentiable manifold, dim  $M \leq \dim G/H$ . Consider the embedding  $V: M \to G/H$ . The lift of V is a map  $v: M \to G$  such that the diagram



is commutative; of course,  $\pi: G \to G/H$  is the natural projection. If  $v_1, v_2: M \to G$ are two lifts of the embedding  $V: M \to G/H$ , there is the map  $h: M \to H$  such that

(1.6) 
$$v_2(m) = v_1(m) h(m) \text{ for } m \in M.$$

To each  $v: M \to G$ , there is associated the g-valued 1-form  $\omega_v$  on M defined by

$$(1.7) \qquad \qquad \omega_v = v^{-1} \,\mathrm{d} v \,.$$

If the lifts  $v_1, v_2 : M \to G$  satisfy (1.6), we have

(1.8) 
$$\omega_{\nu_1} = \operatorname{ad} (h^{-1}) \omega_{\nu_2} + h^{-1} dh.$$

If  $v: M \to G$  is a lift of the embedding  $V: M \to G/H$ ,

(1.9) 
$$\omega_{\nu}(T_m(M)) \cap \mathfrak{h} = 0$$
 for each  $m \in M$ .

Let us present the fundamental existence theorem.

**Theorem 1.1.** Be given a Lie group G, a manifold M and a g-valued 1-form  $\omega_{\mathbf{v}}$  on M such that

(1.10) 
$$d\omega_v = -\omega_v \wedge \omega_v.$$

Further, be given points  $m_0 \in M$  and  $g_0 \in G$ . Then there is a neighborhood  $U \subset M$  of the point  $m_0$  and a unique map  $v: U \to G$  satisfying (1.7) and  $v(m_0) = g_0$ . If dim M = 1 and M is an interval, we may set U = M; the condition (1.10) is always satisfied.

The group G acts transitively on G/H to the left; to the element  $g \in G$  there is associated the map  $\Lambda_g: G/H \to G/H$  given by  $\Lambda_g(g_1H) = (gg_1) H$ .

**Definition 1.1.** The embeddings  $V, W: M \to G/H$  are equivalent if there is an element  $g \in G$  such that the diagram



is commutative.

In the differential geometry, the following problem is of fundamental importance: Be given a homogeneous space G/H and a manifold M, dim  $M \leq \dim G/H$ . On M, be given g-valued 1-forms  $\omega_1, \omega_2$  such that (i = 1, 2)

(1.12) 
$$d\omega_i = -\omega_i \wedge \omega_i, \quad \omega_i(T_m(M)) \cap \mathfrak{h} = 0.$$

Suppose that there are mappings (according to Theorem 1.1)  $v_1, v_2 : M \to G$  such that  $\omega_i = v_i^{-1} dv_i$ . Define the embeddings  $V_1, V_2 : M \to G/H$  by  $V_i = \pi v_i$ . We have to decide whether  $V_1$  and  $V_2$  are equivalent.

From (1.8), we get

**Theorem 1.2.** The embeddings  $V_1, V_2 : M \to G/H$  are equivalent if and only if there is a map  $h : M \to H$  such that

(1.13) 
$$\omega_2 = \operatorname{ad}(h^{-1})\omega_1 + h^{-1} \operatorname{d} h$$

The condition (1.13) is, of course, a differential equation for h, and it is not very convenient for our purposes. In what follows, we wish to replace it by a sequence of algebraic conditions.

Denote by Gr (g/b) the Grassman manifold of all subspaces  $K \subset g$  such that dim  $K = \dim \mathfrak{h}$ . Further, denote by St  $(g/\mathfrak{h})$  the Stiefel manifold of all ordered sets  $(b_1, \ldots, b_r)$  of linearly independent vectors  $b_1, \ldots, b_r \in g$ ,  $\tau = \dim \mathfrak{h}$ . Let  $\pi : \text{St} (g/\mathfrak{h}) \rightarrow$  $\rightarrow \text{Gr} (g/\mathfrak{h})$  be the natural projection. The group G acts on St  $(g/\mathfrak{h})$  to the left; if  $\mathscr{B} = (b_1, \ldots, b_r) \in \text{St} (g/\mathfrak{h})$  we set

(1.14) 
$$\operatorname{ad}(g) \mathscr{B} = (\operatorname{ad}(g) b_1, \ldots, \operatorname{ad}(g) b_{\tau}) \in \operatorname{St}(\mathfrak{g}/\mathfrak{h}).$$

If  $K \in Gr(g/\mathfrak{h})$  and  $\mathfrak{B}_1, \mathfrak{B}_2 \in St(g/\mathfrak{h})$  are such that  $\pi(\mathfrak{B}_1) = \pi(\mathfrak{B}_2) = K$ , we have  $\pi(\mathrm{ad}(g)\mathfrak{B}_1) = \pi(\mathrm{ad}(g)\mathfrak{B}_2)$ , and the group G acts on  $Gr(g/\mathfrak{h})$  to the left; we denote its action by ad, and we have

(1.15) 
$$\pi(\operatorname{ad}(g)\mathscr{B}) = \operatorname{ad}(g)\pi(\mathscr{B}) \text{ for } \mathscr{B} \in \operatorname{St}(\mathfrak{g}/\mathfrak{h}).$$

The full linear group  $GL(\dim \mathfrak{h}, \mathbf{R})$  acts on the Stiefel manifold St  $(\mathfrak{g}/\mathfrak{h})$  to the right according to the rule

(1.16) 
$$\mathscr{B}S = (b_1, ..., b_r)(s_i^j) = (\sum_{i=1}^r b_i s_1^i, ..., \sum_{i=1}^r b_i s_r^i).$$

Be given an embedding  $V: M \to G/H$  and let  $v: M \to G$  be its arbitrary lift. Define the mapping  $V^*: M \to Gr(g/h)$  by

(1.17) 
$$V^*(m) = \operatorname{ad}(v(m))\mathfrak{h}.$$

The mapping  $V^*$  is obviously independent on the choice of the lift  $v: M \to G$ . Be given another embedding  $W: M \to G/H$  and its associated mapping  $W^*: M \to G/H$ .  $\rightarrow$  Gr (g/b). Suppose that V and W are equivalent; hence, there is an element  $g \in G$  such that the diagram (1.11) is commutative. If  $v: M \rightarrow G$  is a lift of V, gv is a lift of W, and we have

(1.18) 
$$W^*(m) = \operatorname{ad}(g) V^*(m) \text{ for each } m \in M.$$

Now, suppose the existence of an element  $g \in G$  such that we have (1.18), and let us choose lifts  $v, w : M \to G$  of the maps  $V, W : M \to G/H$ . Then the equation (1.18) may be written as  $\operatorname{ad}(w(m)) \mathfrak{h} = \operatorname{ad}(g) \operatorname{ad}(v(m)) \mathfrak{h}$ , i.e.  $\operatorname{ad}(v(m)^{-1} g^{-1} w(m)) \mathfrak{h} = \mathfrak{h}$ . There is a mapping  $h : M \to H$  such that

$$v(m)^{-1} g^{-1} w(m) = h(m)$$
, i.e.  $w(m) = g v(m) h(m)$ .

The embedding  $V: M \to G/H$  has a lift v'(m) = v(m) h(m) such that w(m) = g v'(m), and the embeddings V and W are equivalent. We have just proved

**Theorem 1.3.** The embeddings  $V, W : M \to G/H$  are equivalent if and only if there is an element  $g \in G$  such that we have (1.18).

Be given the embeddings  $V, W: M \to G/H$  and the associated mappings  $V^*$ ,  $W^*: M \to Gr(g/\mathfrak{h})$ . Introduce the following

**Definition 1.2.** Let Z be a vector space,  $r, s: M \to Z$  mappings and  $m \in M$  a fixed point. Let  $\zeta_A$  be a basis of the space Z and  $u^{\alpha}$ ;  $\alpha = 1, ..., k$ ; be local coordinates in a neighborhood  $U \subset M$  of m; let  $u^{\alpha}(m) = u_0^{\alpha}$ . The restrictions of the mappings r and s to U are given by the functions  $z^A = r^A(u^{\alpha})$  and  $z^A = s^A(u^{\alpha})$  in such a manner that we have  $r(u^{\alpha}) = r^A(u^{\alpha}) \zeta_A$ ,  $s(u^{\alpha}) = s^A(u^{\alpha}) \zeta_A$ . We write  $j_m^t(r) = j_m^t(s)$  if

(1.19)

$$\frac{\partial^{\rho} r_{A}(m)}{(\partial u^{\alpha_{1}})^{\rho_{1}}, \ldots, (\partial u^{\alpha_{k}})^{\rho_{k}}} = \frac{\partial^{\rho} s^{A}(m)}{(\partial u^{\alpha_{1}})^{\rho_{1}}, \ldots, (\partial u^{\alpha_{k}})^{\rho_{k}}} \quad \text{for} \quad 0 \leq \varrho \leq t, \ \varrho_{1} + \ldots + \varrho_{k} = \varrho \; .$$

It is well known that this is a good definition. The spaces  $\operatorname{St}(\mathfrak{g}/\mathfrak{h}) \subset X^{\mathfrak{r}}\mathfrak{g}$  and  $X^{\mathfrak{r}}\mathfrak{g}$  being vector spaces, the relation  $j_{\mathfrak{m}}^{\mathfrak{t}}(\mathscr{V}) = j_{\mathfrak{m}}^{\mathfrak{t}}(\mathscr{W}), \ \mathscr{V}$  and  $\mathscr{W}: M \to \operatorname{St}(\mathfrak{g}/\mathfrak{h})$  being given, is well defined. Be given mappings  $V^*, W^*: M \to \operatorname{Gr}(\mathfrak{g}/\mathfrak{h})$ . We write  $j_{\mathfrak{m}}^{\mathfrak{t}}(V^*) = j_{\mathfrak{m}}^{\mathfrak{t}}(W^*)$  if and only if there are lifts  $\mathscr{V}, \mathscr{W}: M \to \operatorname{St}(\mathfrak{g}/\mathfrak{h})$  of the mappings  $V^*, W^*$  such that we have  $j_{\mathfrak{m}}^{\mathfrak{t}}(\mathscr{V}) = j_{\mathfrak{m}}^{\mathfrak{t}}(\mathscr{W})$ .

**Definition 1.3.** Be given the embeddings  $V, W: M \to G/H$ . We say that the embeddings V and W are in the deformation of order t if there is a mapping  $g: M \to G$  such that for each  $m_0 \in M$  we have

(1.20) 
$$j_{m_0}^t(\mathrm{ad}\,(g(m_0))\,V^*) = j_{m_0}^t(W^*),$$

 $V^*$ ,  $W^* : M \to Gr(g/b)$  being the associated mappings (1.17).

**2.** Let G/H be a homogeneous space,  $M = (t_1, t_2) \subset \mathbb{R}$  an interval and  $V: M \to G/H$  an embedding. Let  $v: M \to G$  be an arbitrary lift of V, and let  $A: M \to g$  be defined by

(2.1) 
$$A(t) = v(t)^{-1} \frac{\mathrm{d}v(t)}{\mathrm{d}t}.$$

Analogously, be given an embedding  $W: M \to G/H$ , its lift  $w: M \to G$  and the associated mapping

(2.2) 
$$B(t) = w(t)^{-1} \frac{dw(t)}{dt}.$$

The mappings  $A, B: M \to g$  being given, we have to decide whether the embeddings  $V, W: M \to G/H$  are in the deformation of the given order.

The associated mappings  $V^*$ ,  $W^* : M \to Gr(g/\mathfrak{h})$  are

(2.3) 
$$V^*(t) = \operatorname{ad} (v(t)) \mathfrak{h}, \quad W^* = \operatorname{ad} (w(t)) \mathfrak{h}.$$

Let  $\mathscr{B} \in \text{St}(\mathfrak{g}/\mathfrak{h})$  be a fixed basis of the space  $\mathfrak{h}$ . The mappings  $\mathscr{V}^*, \mathscr{W}^* : M \to \mathfrak{St}(\mathfrak{g}/\mathfrak{h})$  given by

(2.4) 
$$\mathscr{V}^{*}(t) = \operatorname{ad}(v(t)) \mathscr{B}, \quad \mathscr{W}^{*}(t) = \operatorname{ad}(w(t)) \mathscr{B}$$

are lifts of the mappings  $V^*$ ,  $W^* : M \to Gr(g/\mathfrak{h})$ . If  $S : M \to GL(\dim \mathfrak{h}, \mathbb{R})$  is an arbitrary mapping, the mapping  $\mathscr{W}_S^* : M \to St(g/\mathfrak{h})$  given by

(2.5) 
$$\mathscr{W}^*_{S}(t) = \operatorname{ad}(w(t)) \mathscr{B}S(t)$$

is certainly a lift of  $W^*$ ; we get all the lifts of  $W^*$  by means of this procedure. Obviously we have

**Theorem 2.1.** The embeddings V,  $W: M \to G/H$  are in the deformation of order k at the point  $t_0$  if and only if there is  $g \in G$  and  $S: M \to GL(\dim \mathfrak{h}, \mathbf{R})$  such that

(2.6) 
$$\operatorname{ad}(g) \frac{\mathrm{d}^{\varkappa}}{\mathrm{d}t^{\varkappa}} \mathscr{V}^{\ast}(t_0) = \frac{\mathrm{d}^{\varkappa}}{\mathrm{d}t^{\varkappa}} \mathscr{W}^{\ast}_{\mathcal{S}}(t_0) ; \quad 0 \leq \varkappa \leq k .$$

Let us study the deformations of low orders; first of all, let us consider the deformation of order 0. For the sake of simplicity, let us write  $v(t_0) = v_0$ , etc. We have

(2.7) 
$$\mathscr{V}_0^* = \operatorname{ad}(v_0) \mathscr{B}, \quad \mathscr{W}_{S0}^* = \operatorname{ad}(w_0) \mathscr{B}S_0,$$

and the condition (2.6) reduces to the existence of  $g \in G$  and  $S_0 \in GL(\dim \mathfrak{h}, \mathbb{R})$  such that  $\operatorname{ad}(gv_0) \mathscr{B} = \operatorname{ad}(w_0) \mathscr{B}S_0$ , i.e.

(2.8) 
$$\operatorname{ad}\left(w_{0}^{-1}gv_{0}\right)\mathscr{B}=\mathscr{B}S_{0}.$$

 $\mathscr{B}S_0$  being a basis of the space h we have  $w_0^{-1}gv_0 \in H$ . The general solution g and  $S_0$  of (2.7) is obtained as follows: choose  $h \in H$ , set  $g = \omega_0 h v_0^{-1}$ , and determine  $S_0$  from

$$(2.9) ad (h) \mathscr{B} = \mathscr{B}S_0.$$

Every two curves are thus in the deformation of order 0; of course, this is obvious, the group G acting on G/H transitively.

Let us now consider the deformation of order k = 1. From (2.4), we get

$$\mathscr{V}^{*}(t) v(t) = v(t) \mathscr{B},$$

and we have

$$\frac{\mathrm{d}\mathscr{V}^{*}(t)}{\mathrm{d}t}v(t)+v(t)\mathscr{B}A(t)=v(t)A(t)\mathscr{B},$$

i.e.

(2.10) 
$$\frac{\mathrm{d}\mathscr{V}^{*}(t)}{\mathrm{d}t} = \mathrm{ad}\left(v(t)\right)\left[A(t),\mathscr{B}\right];$$

here, we use the obvious notation  $[A, (b_1, ..., b_r)] = ([A, b_1], ..., [A, b_r])$ . Analogously, we get

(2.11) 
$$\frac{\mathrm{d}\mathscr{W}^*(t)}{\mathrm{d}t} = \mathrm{ad}\left(w(t)\right)\left[B(t),\mathscr{B}\right].$$

From (2.5), we get

$$\frac{\mathrm{d}\mathscr{W}^*_S(t)}{\mathrm{d}t} = \mathrm{ad}\left(w(t)\right) \left\{ \mathscr{B} \frac{\mathrm{d}S(t)}{\mathrm{d}t} + \left[B(t), \mathscr{B} S(t)\right] \right\}.$$

The condition (2.6) for  $\varkappa = 0, 1$  and  $g = w_0 h v_0^{-1}$  yields (2.9) and

ad 
$$(w_0h)[A_0,\mathscr{B}] = \operatorname{ad}(w_0)(\mathscr{B}S_1 + [B_0, \operatorname{ad}(h)\mathscr{B}]); \quad \dot{S}_1 = \frac{\mathrm{d}S(t_0)}{\mathrm{d}t}$$

Applying ad  $(h^{-1}w_0^{-1})$ , we get

(2.12) 
$$[A_0 - \operatorname{ad}(h^{-1}) B_0, \mathscr{B}] = \operatorname{ad}(h^{-1}) \mathscr{B}S_1.$$

The curves  $V, W: M \to G/H$  are in the deformation of order 1 at the point  $t = t_0$ if and only if there is an element  $h \in H$  and a (dim  $\mathfrak{h} \times \dim \mathfrak{h}$ )-matrix  $S_1$  – possibly singular – such that we have (2.12). From (2.12), we get  $[A_0 - \mathrm{ad}(h^{-1}) B_0, \mathfrak{h}] \subset \mathfrak{h}$ and  $A_0 - \mathrm{ad}(h^{-1}) B_0 \in \mathfrak{h}$ . We have proved

**Theorem 2.2.** Be given curves  $V, W : M \to G/H$ , lifts  $v, w : M \to G$  and the associated mappings  $A, B : M \to g$  (2.1) and (2.2) resp. The curves V and W are in the deformation of order 1 if and only if there is a mapping  $h : M \to H$  such that

$$(2.13) A(t) - \operatorname{ad}(h(t)^{-1}) B(t) \in \mathfrak{h} \quad for \ each \quad t \in M.$$

27

Suppose that the curves V,  $W: M \to G/H$  are in the deformation of order 1. For each  $t \in M$ , choose  $h(t) \in H$  satisfying (2.13), and replace the lift  $w: M \to G$  by the lift  $w': M \to G$  defined by w'(t) = w(t) h(t). For the associated mapping

$$B'(t) = w'(t)^{-1} \frac{\mathrm{d}w'(t)}{\mathrm{d}t}$$

we have

$$B'(t) = ad (h(t)^{-1}) B(t) + h(t)^{-1} \frac{dh(t)}{dt}$$

according to (1.8), and the relation (2.13) is equivalent to  $A(t) - B'(t) \in \mathfrak{h}$ . Thus we have

**Theorem 2.3.** The curves V,  $W: M \to G/H$  are in the deformation of order 1 if and only if there are lifts v,  $w: M \to G$  such that we have

$$(2.14) A(t) - B(t) \in \mathfrak{h} \quad for \ each \quad t \in M$$

for the associated mappings  $A, B: M \rightarrow g$ .

Finally, let us consider the deformation of order 2. From (2.10) and (2.11), we get

(2.15) 
$$\frac{\mathrm{d}^2 \mathscr{V}^*(t)}{\mathrm{d}t^2} = \mathrm{ad} (v(t)) \left\{ \left[ \frac{\mathrm{d}A(t)}{\mathrm{d}t}, \mathscr{B} \right] + \left[ A(t), \left[ A(t), \mathscr{B} \right] \right] \right\},$$

(2.16) 
$$\frac{\mathrm{d}^2 \mathscr{W}^*(t)}{\mathrm{d}t^2} = \mathrm{ad}\left(w(t)\right) \left\{ \left[\frac{\mathrm{d}B(t)}{\mathrm{d}t}, \mathscr{B}\right] + \left[B(t), \left[B(t), \mathscr{B}\right]\right] \right\}.$$

Further,

$$\frac{\mathrm{d}^2 \mathscr{W}_{S}^{*}(t_0)}{\mathrm{d}t^2} = \mathrm{ad}\left(w_0\right) \left\{ \left[\frac{\mathrm{d}B(t)}{\mathrm{d}t}, \mathrm{ad}\left(h\right)\mathscr{B}\right] + \left[B_0, \mathrm{ad}\left(h\right)\mathscr{B}\right] \right] + 2\left[B_0, \left[\mathrm{ad}\left(h\right)A_0 - B_0, \mathrm{ad}\left(h\right)\mathscr{B}\right]\right] + \mathscr{B}S_2 \right\}.$$

The condition (2.6)  $\kappa = 2$  yields

(2.17) 
$$\left[\frac{\mathrm{d}A(t_0)}{\mathrm{d}t} - \mathrm{ad}(h^{-1})\frac{\mathrm{d}B(t_0)}{\mathrm{d}t} + [A_0, \mathrm{ad}(h^{-1})B_0], \mathscr{B}\right] = \mathrm{ad}(h^{-1})\mathscr{B}S_2 - [A_0 - \mathrm{ad}(h^{-1})B_0, [A_0 - \mathrm{ad}(h^{-1})B_0, \mathscr{B}]],$$

and we have

**Theorem 2.4.** Be given curves  $V, W: M \to G/H$ , the lifts  $v, w: M \to G$  and the associated mapping  $A, B: M \to g$  given by (2.1) and (2.2) resp. The curves V and W are in the deformation of order 2 if and only if there is a mapping  $h: M \to H$ 

such that we have (2.13) and

(2.18) 
$$\frac{\mathrm{d}A(t)}{\mathrm{d}t} - \mathrm{ad}\left(h(t)^{-1}\right)\frac{\mathrm{d}B(t)}{\mathrm{d}t} + \left[A(t), \mathrm{ad}\left(h(t)^{-1}\right)B(t)\right] \in \mathfrak{h}$$
for each  $t \in M$ .

Let there be a mapping  $h: M \to H$  such that we have (2.13), i.e.

$$A(t) - \operatorname{ad}(h(t)^{-1}) B(t) = \varphi(t), \quad \varphi(t) \in \mathfrak{h}.$$

Then

$$h(t) A(t) - B(t) h(t) = h(t) \varphi(t),$$

and we get

$$\frac{\mathrm{d}A(t)}{\mathrm{d}t} - \mathrm{ad} \left(h(t)^{-1}\right) \frac{\mathrm{d}B(t)}{\mathrm{d}t} + \left[h(t)^{-1} \frac{\mathrm{d}h(t)}{\mathrm{d}t} A(t)\right] \in \mathfrak{h} \,.$$

The relation (2.18) is equivalent to

(2.19) 
$$\left[A(t), \operatorname{ad}(h(t)^{-1})B(t) + h(t)^{-1}\frac{\mathrm{d}h(t)}{\mathrm{d}t}\right] \in \mathfrak{h} \quad \text{for each} \quad t \in M.$$

Replacing w by the lift w'(t) = w(t) h(t), we get

**Theorem 2.5.** The curves  $V, W: M \to G/H$  are in the deformation of order 2 if and only if there are lifts  $v, w: M \to G$  such that we have (2.14) and

$$(2.20) \qquad [A(t), B(t)] \in \mathfrak{h} \quad for \ each \quad t \in M$$

for the associated mapping  $A, B: M \rightarrow g$ .

## Bibliography

 E. Cartan: Sur le problème générale de la déformation. C. R. Congrès de Strasbourg, 1920, 397-406.

Author's address: Sokolovská 83, Praha 8 - Karlín (Matematicko-fyzikální fakulta KU).